KL FBPIRESRFEBREISERAS 28D AT

j B j; R i;ﬁﬁ ;#
kS 20 | = | 1/20-22 § #*ic 4 Rl
B 21 | P | R4
22 | — | 2122-26 Ff HhiE LR BRRAT FAr
23 | =
24 | =
* 25 | = |sEppdz 2 A £ 31
- 26 | 1 | EW S50 B0 itk
27 | =~
28 | B
29 |- |22 8PhHL L HE HA* R
30 | =
31 | = | 9w ey
AR B H
112-1 8% Frazghfe~ % F @£ 1
SR FE 2 gT A A ;g 3N
1 |z | Feg43m1 f(@edzasgzdbesds 203 |2k
i)
2 |1
¥ 3 | =
=4 4 | P
5 |- |#EBREPMES TR
6 =
7 | = | Arcg ik RS-
G SR Seit b
F 8 |r |AX =K
9 |1 |%7
i 10 | = [ 5&0G-)EBRER
11| P | F&¢E=
12 |- | 596G 2)
13 | = |#E@HEz)
14 | = | #HEGHT)
15 | = | 3 & as
- 16 | I |xf ~FEL 1% B 3% i
112-2 %+ 4 % % ¥t
2/16-3/8 H.2 % B e B %




FE-UF >y AT A B dmALE S £ F (TR
FLBGE B3 th L M- 5 L RF)
LF A EXYY
gL i 2
17 | = | A iFFFg( 2 8prr~27 15 p %)
18 | A
19 | - | 2/19-27 %414 %3¢ 3 ey
it e
20 | = | R 6K F
I E R § C3 Y
2R 3VRERED sfw T B
21 | = | 2213 B4+ % FEF T € Fir
REE GRS G £ 35
R HEF R 9
22 | |2/22-23 v H- & ¥z Y A
TRI2FER S 3 KkieiL f ¢ 5 7% e
Fir ¢k
*HEFIFREREL BT ¥y
23 | I |2/23-27 A HF R P L it
§ - AL H
FLeEE i Hm A E-frT e &P B 15
FYHEER T
= 24 | =
25 | B
26 | = | & sy EiF 2/26-3/1 z
REZET R E2 i % > Fd D R
27 | =
28 | = |fvX R AP
29 | =
= LT |wg-pesy 2 nppd e ipns SRS
EERC TS SRS ECER R R ) '—Fsg';{‘ #q-,f:}?\ CHEER
77§ & XY
2 | =
3 12
4 |- | 2®E 37 Hblg 5 e
5 | = |F1Eig 31 ipblg 7Y
IR SRR - #ABE 4 3/5-8 Wy
5~7 3 Sty T B 99
6 | = |[AH%eg 3" Hblg 5 35




T RERT g AR

4 ¢ ?I'; =y

7 | m |37 g AR §irre
B A= nl € & Wz
. 8 | |5-ZAaW 5 73k
FL Bt eh A &-ﬁ N B ) SR il
IR S FPECSEREET A B2 RRAKE WEz
%
B RERFIPBLFHEER BV e
9 o
10 | P | RAHFBE FRpEL =
11 | - | FTizdn B 2k
12 | = | 3/12-183 e - & S v Y AR P
13 | = [3/13-20 5% 2 47 & it e
14 | =
7 15 | T | 1% €& KXY
FE-RBERTHEL B it i
FLBGE b A A A B
7 &L
e BT ER SRR R34
16 | =
17 | P
18 | -
19 | =
20 | = | R GET g
21 | w | Haw A FR(L o &) B i3k
> 2 |1 | ¢-HLAPUFRERSE 2RT 2 EE ) it
ELAE G E RS TR X S SRS
T B didhidE-F L Tkgx 2 d 0
23 | &~
24 | P
25 | -
26 | = | FEREE E TR etz
27 | = | 3/27-28 % - = w4 3% oAt e
28 | w | 3/28 #¥cAT i (9 pE-11 pF)
29 |3 |4 pxT AR WHEz
M ER AL E AL b Wz
= 30 |~




31 |

1 |- | FZ4#8Y Fagasss §L4mr g K% e
Emg 40 polg itk
Fiiud%ry i i g 2K

2 | = | TmE 4 pulg £ ik

3 |z | S-GEpr Ay EgE AL Ko b
M E AT b ¥ it

4 |z | FPE

5 | I |*%ik

5) )

7 |P

8 |- |4/89w - %%T S HAR R
B A PEY BRGNS R RFLES L FKirg
48-% 113 F R E L (T ¥ FAr

9 | =

10 | = | RIeRT &Y A L

11 | = |4 % >Hf7 €37 B 7%

12 | I | 7o ¢k XY
¥ 2 ZALH Firre
FLE B 3 o A BE-1E ¥ 3 s
B2 ~ A3 ﬁ% T e
Y T ERERR TV e

13 | =

14 | P | R % 25 Fp% LR

15 | - $3£$§ FEAEAR R ) E R it

16 | =

17 | =

18 | =

19 |7 | §o itm 5 15 e
SERCHES A E R R R -
$ 14 Eerdp Y
FoB-£rBE 54 2 RS 2% 4/18-19

20 | =~

21 | P

22 | -

23 | =

24 | =




25 | = 5 i3
- 26 |1 |Fg-%- ERFEFE B 4
FL B 3t oh 2 RE- i B R aE i &EEH R A At F AR i
il K BT R
- 27 | = | 42728 w - 2 i
28 | P
20 | - |4/29-30 8 = 2 %% P
Fof-£ BB 54 EAsR 60 T 803 F 4/29-30 ¥ it
AL~ 5Ly ¥ i¥ 4/29-5/13 Wiz
4/29-30 ¢z ¢ng = £ 14 0320
30 | =
1 |2 |25 85% 15250 ¢ B xR
2 |z | ¥F2 B sk
- 51 y\% ¢ 3F
3 | | ¥Fxd B 5
igﬁ*‘—%—_ﬁ_ LA Y R
SR EREYS
FLBE B L AL B
77§ 3R
= 4 | =
5 2
6 |- |ZTWE5 pilg £ 75
7| | REFYSSEAEL A
FIBEE 50 ol g B 52
8 | = |AHEgE? Rilg £ 55k
T RERT €A AT L
L 9 7
= 10 | |F¢-FRABFAERATFHRAFFIGPAALL) 5 73 h
FLBE 3w 2 32- Mother's Day
11 |+ |[B2RPEY SRS S2 JALR ) B3 K% e
12 | P
13 |- |5/13-14% - ~ 3= %= 2 h¥HF Foir
5/13-14:8133%% - ~ F = % = T 4 3# AT L
14 | =
15 | = | R =2 HP Y FARES FRFES L Foit e
I B3 4
16 | = | B = #mE R WHEz
+ 17 |1 [ §-FY §3 < H%05) T () 5 7t

5




FL 3 A K- T B 2 ARAL BT
ERL A
S I F e
RBIE = FEHTY AR
e 18 |+ |5/18-19 W ¥ %7 ¢ % Feir by
19 | P | B=FHEY FAHEFIER L P
20 | — | 5/20-24 it% 3 & FF*
LELHE 2EH ¢ it
21 | = |- ~B=- 5= {q&‘sﬁ@?lxékﬁ AR e
22 | = | R#A T fTEE
B KTFAY
-+ 23 |z | 2 ¥ REFIER &@%?;&wzﬁ'i%ﬂr%w% 13 2%
I 24 | I | $IFAB - F2IBPRF > FoFLaERE B 3
fi,f&'}’éfh"}’/‘ i %\3;5%"1—»"’;% 1:7‘?:1 AN
ERIBFERY 1 FPHriaizn
MR TLE S AERP AL (T3 AR HETHIR
aop
25 | =~
26 | P
27 | -
28 | =
29 | =
-+ 30 |z
> 31 |7 | ¥ FZABRARSSFETEAELFEFRO) 5 73 he
ﬁ@ﬁ%@%%dﬁ%ﬁ@
%iﬁﬁﬁm
B HRATLB SR kAR
Hﬁéﬁd¢¢&%;%i%é%ﬁﬁ%@gk@@§
1 | =
2 2
3 |- | EEL
4 | = |71 E 67 (bl g B 5% i
5 [ = |AmE 67 il g iR
IR - B9k
-+ 6 |m |67 PEEFEF 55 b
- B AT 6 R WEz
7 |1 |xg-FavH B 7h ke

PG § K TH RSO
3T, A/éf"ﬂl %E-#E‘f‘;;.%.r.‘-}



https://futurecity.cw.com.tw/article/1867#3

75 ¢ & i, 75
= A = B3 4
8 | =
9 p
10 = T &
11 | =
12 | =
13 |2 [ W% "R §ERIERT PR Wz
14 |1 | 718 g ¢ L FRl¢ L EFHE ~RBL TR 7 g it e
FIoFf ki -2 82 14 g b
15 | =
16 | P
17 | -
18 | =
19 | =
20 | = | 6/20-24 % = #H R ¥ Hi* e
21 | I |Eg-iEBisedn g it
BoRMERELBEEVEP § (7)
FLBE it A K- B ATARY
o XA FP v R
ERE-I - 8Tk i
22 | =~
23 | P
24 | - | B - B D BRATIEER KR B
25 | = | B = R RE 48 6/25(=2 )~27(z) B 3%
26 | = | 6/26-28 3 - # k¥ Hi* e
6/26-28 £33 F - ~ B - HAY g 3N
27 | =
8|7 [ s2spadgen
Feas € ik e
29 | =
30 | P
1 |- | 2 BRL
Rk e e R 3 2 F e
2 |z 1128 2 BB %P E(2-14) B 5
3 |z |Fren Py
4 |z |B- ~B= %?EP‘S\;.f@%ﬁa’?J)‘é:i FF
5 | I




6
7 | B
= 8 -
L 9 =
= 10 | =
1 | =
12 | 1 | 71213 « & » Lz




